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7. o O™ x 9 2717

@ 50° @)52° @ 54° @ 56° ® 60°

3
50° + x + ax = 180°

)
5% = 130°

. /Lx = H2°




8. Th2 139 AABC oA £C 9] £]2+9] 27]&7
A

65°

D 115° @ 120° (@)125° @ 130° ® 135°

180° — 55° = 125°
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o ™A x +y o] gh& Fshei =t

\VARR 4
0x
iy

125 °

H
x = 50° +40° = 90°
90° = 55° +y

y = 35°

wrabA x +y = 90° + 35° = 125° o|t}.




10. 2 I"ofA LABC, /ACE 9] o] 5-EA e wd-& D & gict. /D
30° ¢ o, 1x O] 7|7

@® 50° @ 55° @60° @ 65° ® 70°

/x+ /B =2(30° + /DBC) 14| 2/DBC = /B °|E& /x = 60°
olct.
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th& 297} 22 AABC 94 AB = AC = CD ©]1, Z/ADC = 28°
d i, zx o] 7] Fotefet,

A

X

B 28 ™1y

\VARR 4
0x
iy

68 °

(ACB = /CAD + /ADC = 28° + 28° = 56° ©]1, AABC 7}
O] HAZIG o]l B2 /x = 180° — 56° — 56° = 68° ©|T}.




12. o8 1399 S7GolA sx+ 2y o 2718 Fatolat.

/x =180°-100°=80°
Ly =180°-50°=130°
/x+ £y =80°+130°=210°
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17. o I"elA zx 9] 2717

92°

z+10° T

D 38° @ 39° ® 40° @410 ® 40




18. o= ™A 2x o 2717

@© 75° 2)80° ® 85° @ 90°

® 95°

/ABD = 180° — 130° = 50°
1
(BAD = 5(180" - 120°) = 30°
o /x = /ABD + /BAD = 50° + 30° = 80°




19.

o ™A 2x o] 27127

30°

55 50°

@® 115° @ 125° @135° @ 145° ® 155°

~&B

A B&DE AZsHH
(ADE = /A + /ABD /CDE = /C + /CBD.. /x = tADE +

LCDE
w2tA ZA + /B + 2C = 30° + 55° + 50° = 135° ©|t},
A




20. tHS 1389 AABC oA BP, CQ = Z7} /B &} £C 9] o] 5H Ao

(A =40° D W), zx + 2y & A7 E 75 }@?

D 120° @ 150° @ 180° @210°

® 240°

B

AABC 9|4 /B + +C = 180° — 40° = 140°
1
AQBC A zx = /B + 510

1
APBC 9|4 2y = §zB +/C

X+ Ly = g(zB + £C) = 210°
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eH& 193 ol AABC 14 (ABC 9] el 53417 AACE € ]
Bado] whis g

5fodzt,

[ 2
> Heh: 60°

/x+ /B = 2(30°+/DBC) §1H] /B = 2/DBC °|E& /x = 60°
oJtt.




22, & 2™ A AB = AC = CD °|1, /ABC = 38° & o, zx ¢
3715 F-otofef

D

L
o

>
> =g 114 °

2/ABC = /CAD
/x = 3/ABC = 3 x 38° = 114°




thS 1o A /ABD = /DBC, /ACD = /DCE € 1w, /x ©] 27]

9

@ 10° @ 20° @30° @ 40° ® 50°

B ~
/DBC = /ABD = a, /ACD = /DCE = b t115}7},

(DCE = /x + /DBC

b=/x+a---(1)

/ACE = 60° + /ABC

2b = 60° + 2a

b=30°+a---(2)

(2) 4= (1) Al s dohd

30°4+a=/‘tx+a

o o/x = 30°




